INOX20

MITTELLAST GEHAUSE INOX20 MIT EINBAUPLATTE

- Finish: poliert.

1) Einbauplatte aus gepresstem AISI 304 Edelstahlblech
mit vorgeformtem Zapfen.

2) Staubring aus thermoplastischem Kunststoff (kristallin
thermoplastischer Kunststoff fir hohe Temperaturen,
max. 270°C).

3) Lenkgabel aus gepresstem AIS| 304 Edelstahlblech.

4) Kugeln aus AISI 420 Edelstahl.

5) Kugelkranzhalter aus gepresstem AlS| 304
Edelstahlblech.

www.roda

SUPPORTI MEDI INOX20 A PIASTRA

- Finitura: lucidatura

1) Piastra d’attacco con perno preformato in
lamiera inox AISI 304 stampata.

2) Anello parapolvere in materiale termoplastico
(termoplastico cristallino nei supporti per alte
temperature, max. +270°)

3) Corpo girevole in lamiera inox AISI 304
stampata.

4) Sfere di acciaio inox AISI 420

5) Anello tenuta sfere in lamiera inox AISI 304
stampata.

CHAPES MOYENNES INOX20 A PLATINE
- Finition: polie.

t6le inox AISI 304 emboutie.

(thermoplastique cristalline dans les ch apes
pour hautes températures max. 270°C).

3) Fourche pivotante en tdle inox AlSI 304
emboutie.

4) Billes en acier inox AlSI 420.

5) Anneau porte-billes en téle inox AISI 304

60

emboutie.
105
96
80
76 80 /r~ i
. Q b
O ol v o
o 2 HEH 2
/1)
© ® 4 Q
102 135

@ 80/40-125/40

@ 100/50L-150/50L @ 125/50-150/50

1) Platine de fixation avec pivot central préformé en

2) Anneau pare-poudre en matiére thermoplastique

Servicio de Att. a

MEDIUM DUTY TOP PLATE CASTORS
INOX20

- Finish: polished.

1) Top plate with forged central pin in pressed
stainless steel-sheet AISI 304.

2) Thermoplastic dust protection ring (crystalline
thermoplastic for high temperature castors,
max. 270°C).

3) Swivel fork in pressed stainless steel-sheet AlSI
304.

4) Stainless steel balls AISI 420.

5) Balls retaining ring in pressed stainless steel
sheet AISI 304.

SOPORTES MEDIOS INOX20 A PLATINA

- Acabado: pulido.

1) Platina de anclaje con perno central preformado
en chapa inox AISI 304 estampada.

2) Anillo anti-polvo en material termoplastico
(plastico cristalino en los soportes para altas
temperaturas, max. 270°C).

3) Horquilla giratoria en chapa inox AISI 304
estampada.

4) Bolas en acero inox AlSI 420.

5) Disco porta-bolas en chapa inox AISI 304
estampada.

105

.80

@ 175/60-200/60

SUPPORTI INOX20 A FORO PASSANTE @ ﬁ @1

1) Boccola di riduzione del foro passante in acciaio inox AlSI 430. ~

2) Piastra porta sfere in lamiera inox AISI 304.

STAINLESS STEEL INOX20 BOLT HOLE CASTORS 80

1) Bolt hole reduction bush in stainless steel AlSI 430. 100 | 40 HB=10-12
2) Stainless steel AISI 304 balls retaining plate. 125

ROSTFREIES GEHAUSE INOX20 MIT RUCKENLOCH 100

1) Reduktionshtilse zum Riickenloch aus Edelstahl AISI 430. 125 50 HD=12-14
2) Kugelkranzhalter aus gepresstem Edelstahl AISI 304. 150

CHAPES INOX20 A TROU CENTRAL

1) Bague de réduction du trou central en acier inox AISI 430. 180 HE=12-14
2) Disque porte-billes en téle inox AlSI 304 estampée. 200 60 HF=16-18
SOPORTES INOX20 CON TALADRO LISO PASADOR B

1) Casquillo de reduccién por taladro en acero AlS| 430.

2) Platina porta-bolas en chapa de acero inox AISI 304.

SUPPORTI INOX20 A PERNO FILETTATO P

1) Perno filettato in acciaio inox AISI 304. ﬁ ﬁ

2) Boccola di riduzione del foro in acciaio inox AISI 430.

3) Rondella inox AISI 304. 4) Dado inox AISI 304. 80 YA=M10x25
THREADED STEM STAINLESS STEEL INOX20 CASTORS 100 40 YB:M12 o5
1) Threaded stainless steel stem AISI 304. 125 - X

2) Stainless steel AISI 430 bolt hole reduction bush.

3) Stainless steel washer AISI 304. 4) Stainless steel nut AISI 304. 100 YC=M12x30
ROSTFREIES GEHAUSE INOX20 MIT GEWINDESTIFT 125 50 YD=M14x30
1) Rostfreie Gewindestift aus Edelstahl AlSI 304. 150

2) Reduktionshiilse zum Riickenloch aus Edelstahl AISI 430.

3) Rostfreie Scheibe AISI 304. 4) Lostfreie Mutter AISI 304. 180 60 YE=M12x30
CHAPES INOX20 A TIGE FILETEE 200 YF=M16x30

1) Tige filetée en acier inox AISI 304.
2) Bague de reduction du trou central en acier inox AlSI 430.
3) Rondelle inox AISI 304. 4) Ecrou inox AISI 304.
SOPORTES INOX20 CON ESPIGA ROSCADA
1) Espiga roscada inox AISI 304.
2) Casquillo de reduccién por el taladro en inox AISI 430.
3) Arandela inox AISI 304. 4) Tuerca inox AISI 304.
17



https://rodavigo.net/es/c/f/lag
https://rodavigo.net/es/c/f/lag

18

SCHWERLAST GEHAUSE INOX40

- Finish: poliert.

1) Einbauplatte aus gepresstem AISI 304
Edelstahlblech.

2) Auf der Platte eingenieteter Kénigsbolzen aus
AISI 303 Edelstahl.

3) Wasserabweisender Staubring aus
thermoplastischem Kunststoff.

4) Lenkgabel aus gepresstem AIS| 304
Edelstahlblech.

5) Kugeln aus AlSI 420 Edelstahl.

6) Wasser- und Staubabdichtungsring aus
thermoplastischem Kunststoff.

7) Kugelkranzhalter aus gepresstem AISI 304
Edelstahlblech.

8) Selbstsichernde Edelstahl-Mutter.

80

]"m—‘

[ | a
© ®

85

www.roda

SUPPORTI PESANTI INOX40

- Finitura: lucidatura.

1) Piastra d’attacco in lamiera inox AlISI 304
stampata.

2) Perno centrale inox AISI 303 ribadito alla
piastra.

3) Anello parapolvere in materiale termoplastico
(water resistant).

4) Corpo girevole in lamiera inox AISI 304
stampata.

5) Sfere di acciaio inox AISI 420.

6) Guarnizione di tenuta in materiale
termoplastico (water proof).

7) Anello tenuta sfere in lamiera inox AISI 304
stampata.

8) Dado autobloccante inox.

CHAPES LOURDES INOX40

- Finition: polie.

1) Platine de fixation en téle inox AISI 304
emboutie.

2) Pivot central inox AISI 303 rivé a la platine.

3) Anneau pare-poudre en matiére thermoplastique
(résistante a I'eau).

4) Fourche pivotante en tole inox AISI 304
emboutie.

5) Billes en acier inox AISI 420.

6) Joint étanche en matiere thermoplastique.

7) Anneau porte-billes en tole inox AISI 304
emboutie.

8) Ecrou de sdreté inox.

110

& 80/50-160/50

Servicio de Att. a

INOX40

HEAVY DUTY CASTORS INOX40

- Finish: polished.
1) Top plate in pressed stainless steel sheet AlSI
304.

2) Stainless steel kingpin AISI 303 riveted to the
top plate.

3) Thermoplastic dust protection ring
(water resistant).

4) Swivel fork in pressed stainless steel-sheet AlSI
304.

5) Stainless steel balls AISI 420.

6) Thermoplastic dust seal (water proof).

7) Balls retaining ring in pressed stainless steel-
sheet AISI 304.

8) Self-locking stainless steel nut.

SOPORTES PESADOS INOX40

- Acabado: pulido

1) Platina de anclaje en chapa inox AlSI 304
estampada.

2) Perno central en inox AISI 303 remachado a la
platina.

3) Anillo anti polvo en material termoplastico
(water resistant).

4) Horquilla giratoria en chapa inox AISI 304
estampada.

5) Bolas en acero inox AlSI 420.

6) Junta estanca en material termoplastico.

7) Disco porta-bolas en chapa inox AlSI 304
estampada.

8) Tuerca autobloqueante inox.

105

80
75
110

Q)

N

135

@ 125/60-300/60

EXTRASCHWERLAST GEHAUSE FUR
ZWILLINGSRADER G80

- Finish: lackiert.

1) Einbauplatte aus dickem Stahlblech.

) Kénigsbolzen.

) Staubring.

) Axial Kugellager*.

) Lenkgabel aus dicker StahlschweiB-
Konstruktion.

) Kegelrollenlager.

) Staubdeckel aus gepresstem Stahlblech.

) Gesicherte Mutter.

) Schmiernippel.

SUPPORTI EXTRA PESANTI PER
RUOTE GEMELLATE G80

- Finitura: verniciatura.

1) Piastra d’attacco in acciaio di grosso spessore.

2) Perno centrale.

3) Anello parapolvere.
) Cuscinetto assiale a sfere*.

) Corpo girevole in lamiera d’acciaio di grosso
spessore saldata.

) Cuscinetto a rulli conici.

) Disco parapolvere in lamiera d’acciaio
stampata.

8) Dado con bloccaggio.

9) Ingrassatore.

CHAPES EXTRA-LOURDES POUR ROUES
JUMELEES G80

- Finition: peinte.

) Platine de fixation en t6le d’acier de forte épaisseur.

) Pivot central.

) Anneau pare-poudre.

) Roulement axial & billes*.

) Fourche pivotante en téle d’acier de forte
épaisseur, soudée.

) Roulement a rouleaux coniques.

) Disque pare-poudre en tole d’acier emboutie.

8) Ecrou avec blocage.

9) Graisseur.

1
2
3
4
5
6
7

G80

EXTRA HEAVY DUTY CASTORS FOR
TWIN WHEELS G80

- Finish: painted.
1) Top plate in heavy gauge pressed steel sheet.
2) Kingpin.

3) Dust protection ring.

4) Axial ball bearing™.

5) Fabricated swivel fork in heavy gauge steel-
sheet.

6) Tapered roller bearing.

7) Dust cover disc in pressed steel-sheet.

8) Locked nut.

9) Grease nipple.

SOPORTES EXTRAPESADOS PARA
RUEDAS GEMELAS G80

- Acabado: pintado.

) Platina de anclaje en chapa de grande espesor.

) Perno central.

) Anillo anti-polvo.

) Cojinete axial a bolas*.

) Horquilla giratoria en chapa de acero de grande
espesor, soldada.

) Cojinete de rodillos conicos.

) Disco anti-polvo en chapa de acero estampada.

8) Tuerca con bloqueo.

9) Engrasador.

1
2
3
4
5
6
7

| @ 400x132+132: Cuscinetto assiale sostituito da cuscinetto a rulli conici - Axial ball bearing replaced by taper roller bearing - Axial Kugellager durch

Kegelrollenlager ersetzt - Roulement axial a billes remplacé par un roulement a rouleaux coniques - Cojinete axial reemplazado por cojinete a rodillos cénicos.

ST o
G ®

-k\vj AxB 105 )

0 % 8
0250/100+100 255x245 3
0300/132+132 255x310 "

| 0 ®
©400/132+132 255x340 = 200

160

160

@ 100/73-100/105

@ 125-150/105

210

O (O]

160
205

255

@ 200-400



https://rodavigo.net/es/c/f/lag
https://rodavigo.net/es/c/f/lag

EXTRASCHWERLAST GEHAUSE E70

- Finish: lackiert.

1) Dicke Einbauplatte.

2) Koénigsbolzen.

3) Staubring aus thermoplastischem Kunststoff.
4) Axial Kugellager.

5) Kugellagerhalterring aus nachgedrehtem und
zum Lenkgabel geschweiftem Stahl.
Lenkgabel aus gepresstem Stahlblech.
Staubdeckel aus gepresstem Stahlblech.
Kegelrollenlager.

Gesicherte Mutter.

10) Schmiernippel.

6)
7)
8)
9)

105

www.roda

SUPPORTI EXTRA PESANTI E70

- Finitura: verniciatura

1) Piastra d’attacco in acciaio di grosso spessore

2) Perno centrale

3) Anello parapolvere in materiale termoplastico

4) Cuscinetto assiale a sfere

5) Anello porta cuscinetti in acciaio lavorato e
saldato al corpo girevole

6) Corpo girevole in lamiera d’acciaio stampata

7) Disco parapolvere in lamiera d’acciaio
stampata

8) Cuscinetto a rulli conici

9) Dado con bloccaggio

10) Ingrassatore

CHAPES EXTRA-LOURDES E70
- Finition: peinte
1) Platine de fixation de forte épaisseur.
2) Pivot central.
3) Anneau pare-poudre en matiére
thermoplastique.
4) Roulement axial a billes.
5) Anneau porte-roulement en acier usiné et
soudé a la fourche pivotante.
6) Fourche pivotante en téle d’acier emboutie.
7) Disque pare-poudre en téle d’acier emboutie.
8) Roulement a rouleaux coniques.
9) Ecrou avec blocage.
10) Graisseur.

160

96

[
Ay
feY
A\

(A
1O

60

55

85
80
75

135

@ 100/40

@ 82/73-82/105
@ 100/50-
@ 150/60-

)

120
160

110

9 o o

200

@ 250/76-300/76

150/50
200/60

Servicio de Att. a

EXTRA HEAVY DUTY CASTORS E70

- Finish: painted.
1) Heavy gauge top plate.
2) Kingpin.
3) Thermoplastic dust protection ring.
4) Axial ball bearing.
5) Bearing supporting steel ring, machined and
welded to the swivel fork.
6) Swivel fork in pressed steel-sheet.
7) Dust cover disc in pressed steel.
8) Tapered roller bearing.
9) Locked nut.
10) Grease nipple.

SOPORTES EXTRA PESADOS E70

- Acabado: pintado.

1) Platina de anclaje de acero de grande espesor.

2) Perno central.

3) Anillo anti-polvo en material termoplastico.

4) Cojinete axial a bolas.

5) Anillo porta-cojinete en acero mecanizado y

soldado a la horquilla giratoria.

6) Horquilla giratoria en chapa de acero
estampada.

) Disco anti-polvo en chapa de acero estampada.

) Cojinete de rodillos conicos.

) Tuerca con blogueo.

) Engrasador.

© 0o~

1

o

210

O ©

160
205

255

@ 300-400/153

SCHWERLAST GEHAUSE P60

- Finish: elektro-verzinkt, wei

1) Einbauplatte aus gepresstem Stahlblech

2) Auf der Platte eingenieteter Kdnigsbolzen

3) Wasserabweisender Staubring aus thermo pla-
stischem Kunststoff

) Kugelbahnen aus gehartetem Stahlblech

) Lenkgabel aus gepresstem Stahlblech

) Gehértete Stahlkugeln

) Wasser- und Staubabdichtungsring aus thermo-
plastischem Kunststoff

4
5
6
7

SUPPORTI PESANTI P60

- Finitura: zincatura elettrolitica bianca

1) Piastra d’attacco in lamiera d’acciaio stampata

2) Perno centrale ribadito alla piastra

3) Anello parapolvere in materiale termoplastico
(water resistant)

4) Ralle contenimento sfere in acciaio temperato

5) Corpo girevole in lamiera d’acciaio stampata

6) Sfere d’acciaio temperato

7) Guarnizione di tenuta in materiale
termoplastico (water proof)

8) Anello tenuta sfere in lamiera d’acciaio
stampata

9) Dado autobloccante

CHAPES LOURDES P60

- Finition: électrozingué, blanc

1) Platine de fixation en t6le d’acier emboutie

2) Pivot central rivé a la platine

3) Anneau pare-poudre en matiére thermoplasti-
que (résistant a I'eau)

4) Cuvettes porte-billes en acier trempé

5) Fourche pivotante en t6le d’acier emboutie

6) Billes en acier trempé

7) Joint étanche en matiére thermoplastique

8) Anneau porte billes en tole d’acier emboutie

9) Ecrou de s(reté

105

8) Kugelhalterring aus gepresstem Stahlblech
9) Selbstsichernde Mutter
(A 69\
105

@ 80-100/50L

@ 80-100/50-160/50

HEAVY DUTY CASTORS P60

- Finish: electro-zinc plated, white.

1) Top plate in pressed steel-sheet.

2) Kingpin riveted to the top-plate.

3) Thermoplastic dust protection ring
(water resistant).

4) Hardened steel ball races.

5) Swivel fork in pressed steel sheet.

6) Hardened steel balls.

7) Thermoplastic dust seal (water proof).

8) Balls retaining ring in pressed steel-sheet.

9) Self-locking nut.

SOPORTES PESADOS P60

- Acabado: eléctro-cincado, blanco.

1) Platina de anclaje en chapa de acero estampada.

2) Perno central remachado a la platina.

3) Anillo anti-polvo en material termoplastico (water-
resistant).

4) Pistas de rodadura en acero templado.

5) Horquilla giratoria en chapa de acero estampada.

6) Bolas en acero templado.

7) Junta estanca en material termoplastico.

8) Disco porta bolas en chapa de acero estampada.

9) Tuerca autobloqueante.

105

o
-

80
75

135

19

@ 125/60-300/60



https://rodavigo.net/es/c/f/lag
https://rodavigo.net/es/c/f/lag

20

80

76

MITTEL-SCHWER LAST GEHAUSE M40

- Finish: elektro-verzinkt, weiB.

1) Einbauplatte aus gepresstem Stahlblech.

2) Auf der Platte eingenieteter Kénigsbolzen.

3) Wasserabweisender Staubring aus
thermoplastischem Kunststoff.

4) Lenkgabel aus gepresstem Stahlblech.

5) Gehartete Stahlkugeln.

6) Wasser- und Staubabdichtungsring aus
thermoplastischem Kunststoff.

7) Kugelkranzhalter aus gepresstem Stahlblech.

8) Selbstsichernde Mutter.

60
55

e
')
&

@

85

105

@ 80-100/50L-125/50L

www.roda

SUPPORTI MEDIO-PESANTI M40

- Finitura: zincatura elettrolitica bianca
1) Piastra d’attacco in lamiera d’acciaio stampata

2) Perno centrale ribadito alla piastra
3) Anello parapolvere in materiale termoplastico

(water resistant)

4) Corpo girevole in lamiera d’acciaio stampata

5) Sfere d’acciaio temperato

6) Guarnizione di tenuta in materiale
termoplastico (water proof)

7) Anello tenuta sfere in lamiera d’acciaio

stampata

8) Dado autobloccante

CHAPES MI-LOURDES M40
- Finition: électrozingué, blanc.

Servicio de Att. a

M40

MEDIUM-HEAVY DUTY CASTORS M40
- Finish: electro-zinc plated, white.

1) Top plate in pressed steel-sheet.

2) Kingpin riveted to the top-plate.

3) Thermoplastic dust protection ring

(water resistant).

4) Swivel fork in pressed steel-sheet.

5) Hardened steel balls.
6) Thermoplastic dust seal (water proof).

7)
8)

Balls retaining ring in pressed steel-sheet.
Self-locking nut.

SOPORTES MEDIO-PESADOS M40
- Acabado: eléctro-cincado, blanco.

1) Platine de fixation en tole d’acier emboutie.

2) Pivot central rivé a la platine.

1) Platina de anclaje en chapa de acero estampada.

2) Perno central remachado a la platina.

3) Anneau pare-poudre en matiére thermoplastique

(résistant a I'eau).

4) Fourche pivotante en t6le d’acier emboutie.

5
6
7
8) Ecrou de sdreté.

)
) Billes en acier trempé.

) Joint étanche en matiére thermoplastique.
)

)

80

75

56
S

& 80-100/50-160/50

Anneau porte-billes en téle d’acier emboutie.

3) Anillo anti-polvo en material termoplastico (water-

resistant).

4) Horquilla giratoria en chapa de acero estampada.
5) Bolas en acero templado.

6) Junta estanca en material termoplastico.

7) Disco porta bolas en chapa de acero estampada.
8) Tuerca autobloqueante.

80
75

110

&
®

135

@ 125/60-250/60

MITTELLAST GEFEDERTE GEHAUSE M34

- Finish: Epoxy elektrolackiert, schwarz.
Einbauplatte aus Stahlblech mit Lagersitz.
Schréages Kugellager mit doppeltem Kugelkranz.
Lenkgabel aus gepresstem Stahlblech.

1)
2)
3)
4
5)

Polyurethan-Feder.

Schwinghebel auf Bronzebuchsen.

SUPPORTI MEDI MOLLEGGIATI M34

- Finitura: verniciatura in cataforesi nera
1) Piastra d’attacco in lamiera d’acciaio con

sede cuscinetto

Cuscinetto obliquo a due corone di sfere
Corpo girevole in lamiera d’acciaio

2)
3)
4) Molla in poliuretano
5)

Bilanciere oscillante su boccole di bronzo

CHAPES MOYENNES COMPENSEES M34

- Finition: peinte en cataphorése noir.
1) Platine de fixation en téle d’acier avec cage a

roulement.

2) Roulement oblique avec double couronne des

billes.

3) Fourche pivotante en téle d’acier emboutie et

soudée.

4) Ressort en polyurethane.

5) Balancier oscillant sur bagues en bronze.

80
76

60
55

7

0 ®

85

105

@ 100-125

105

7

M34

MEDIUM DUTY SPRING CASTORS M34

- Finish: electro-painted, black

1) Steel-sheet top plate with bearing seat.
2) Oblique bearing with double row of balls.
3) Swivel fork in steel-sheet.

4) Polyurethane buffer spring.

5) Equaliser swinging on bronze bushes

SOPORTES MEDIOS CON
AMORTIGUADORES M34

- Acabado: pintado en cataforesis negra.

1) Platina de anclaje en chapa de acero con
alojamento cojinete.

2) Cojinete oblicuo con dos coronas de bolas.

3) Horquilla giratoria en chapa de acero.

4) Resorte en poliuretano.

5) Balancin oscilante encima de casquillos en
bronce.

80
75

O

©

®

110

135

@ 100-200



https://rodavigo.net/es/c/f/lag
https://rodavigo.net/es/c/f/lag

MITTELLAST GEHAUSE M22 MIT
EINBAUPLATTE

- Finish: elektro-verzinkt, wei

1) Einbauplatte aus gepresstem Stahlblech mit

vorgeformtem Zapfen.

2) Staubring aus thermoplastischem Kunststoff
(kristallin- thermoplastischer Kunststoff flir hohe

Temperaturen, max. 270°C).
3) Lenkgabel aus gepresstem Stahlblech.
4) Gehartete Stahlkugeln.

SUPPORTI MEDI M22 A PIASTRA

- Finitura: zincatura elettrolitica bianca

1) Piastra d’attacco con perno preformato in
lamiera d’acciaio stampata

2) Anello parapolvere in materiale termoplastico
(termoplastico cristallino nei supporti per alte
temperature, max. 270°C)

3) Corpo girevole in lamiera d’acciaio stampata

4) Sfere d’acciaio temperato

5) Anello tenuta sfere in lamiera d’acciaio
stampata

CHAPES MOYENNES M22 A PLATINE

- Finition: électrozingué, blanc.
1) Platine de fixation avec pivot central préformé
en tole d’acier emboutie.

2) Anneau pare-poudre en matiere thermoplastique

(thermoplastique cristalline dans les chapes
pour hautes températures, max. 270 °C).
3) Fourche pivotante en t6le d’acier emboutie.
4) Billes en acier trempé.
5) Anneau porte-billes en téle d’acier emboutie.

5) Kugelhalterring aus gepresstem Stahlblech.

QS 3) ]
aLc/ @j

O 80/40-125/40

80

Servicio de Att. al

MEDIUM DUTY TOP-PLATE CASTORS M22

- Finish: electro-zinc plated, white.

1) Top plate with forged central pin in pressed
steel-sheet.

2) Thermoplastic dust protection ring (crystalline
thermoplastic for high temperature castors,
max. 270°C).

3) Swivel fork in pressed steel-sheet.

4) Hardened steel balls.

5) Balls retaining ring in pressed steel-sheet.

SOPORTES MEDIOS M22 A PLATINA

- Acabado: eléctro-cincado, blanco.

1) Platina de anclaje con perno central
preformado en chapa de acero estampada.

2) Anillo anti-polvo en material termoplastico
(termoplastico cristalino en los soportes para
altas temperaturas, max. 270°C).

3) Horquilla giratoria en chapa de acero
estampada.

4) Bolas en acero templado.

5) Disco porta bolas en chapa de acero
estampada.

60

@ 100/50L-150/50L

SUPPORTI MEDI M22 A FORO PASSANTE
1) Boccola di riduzione del foro passante.

2) Piastra porta sfere in lamiera d’acciaio stampata.
MEDIUM DUTY BOLT HOLE M22 CASTORS
1) Bolt hole reduction bush.

2) Pressed steel balls retaining plate.
MITTELLAST GEHAUSE ill22 MIT RUCKENLOCH
1) Reduktionshdilse zum Ruckenloch.

2) Kugelkranzhalter aus gepresstem Stahlblech.

CHAPES MOYENNES M22 A TROU CENTRAL

1) Bague de réduction du trou central.

2) Disque porte-billes en tole d’acier estampée.
SOPORTES MEDIOS M22 CON TALADRO LISO
PASADOR

1) Casquillo de reduccién por el taladro.

2) Platina porta-bolas en chapa de acero estampada.

SUPPORTI MEDI M22 A PERNO LISCIO
1) Perno liscio zincato. 2) Boccola di riduzione del foro.
3) Rondella zincata. 4) Dado autobloccante zincato.
SOLID STEM MEDIUM DUTY M22 CASTORS
1) Solid stem, zincplated. 2) Bolt hole reduction bush.
3) Zincplated washer. 4) Zincplated self locking nut.
MITTELLAST GEHAUSE M22 MIT ZAPFEN
1) Zapfen, verzinkt. 2) Reduktionshiilse zum Riickenloch.
3) Scheibe, verzinkt. 4) Selbstsichernde Mutter, verzinkt.
CHAPES MOYENNES M22 A TIGE
1) Tige zinguée. 2) Bague de reduction du trou central.
3) Rondelle zinguée. 4) Ecrou de slreté, zinguée.
SOPORTES MEDIOS M22 CON PERNO LISO
1) Perno liso cincado. 2) Casquillo de reduccion por el taladro.
3) Arandela cincada. 4) Tuerca autobloqueante cincada.

SUPPORTI MEDI M22 A PERNO FILETTATO

1) Perno filettato zincato. 2) Boccola di riduzione del foro.

3) Rondella zincata. 4) Dado zincato.

THREADED STEM MEDIUM DUTY M22 CASTORS

1) Threaded stem, zincplated. 2) Bolt hole reduction bush.

3) Zincplated washer. 4) Zincplated nut.

MITTELLAST GEHAUSE M22 MIT GEWINDESTIFT
1) Gewinde, verzinkt. 2) Reduktionshtilse zum Riickenloch.

3) Scheibe, verzinkt. 4) Mutter, verzinkt.

CHAPES MOYENNES M22 A TIGE FILETEE
1) Tige filetée, zmguee 2) Bague de reduction du trou central.

3) Rondelle zinguée. 4) Ecrou zingué.

SOPORTES MEDIOS M22 CON ESPIGA ROSCADA
1) Espiga roscada cincada. 2) Casquillo de reduccion por el

taladro. 3) Arandela cincada. 4) Tuerca cincada.

@ 125/50-160/50

80
75

@ 160/60-200/60

@ | TT |smnoarD 7] HT

80

100 | 40 | FB=10-12 | GB=10-12

125

100

125

120 | 50 | FD=12-14 | GD=12-14

160

o0 | 6o | FE=1214 | GE=12-14

200 FG=16-18 | GG=16-18

0) STANDARD , HT

i =

80

50 | 40 | DA=20x50 | EA=20x50
DB=22x50 | EB=22x50

125

e DC=20x50 | EC=20x50

log | 50 | DD=22x50 | ED=22x50
DE=27x60 | EE=27x60

160

160

180 | 60 | DF=27x60 | EF=27x60

200

® | I STANDARDQ%: HT

80

o0 | a0 | vA=M10x25 | ZA=M10x25
VB=M12x25 | ZB=M12x25

125

100

125 | . | VC=M12x30 | 2C=M12x30

150 VD=M14x30 | ZD=M14x30

160

128 6o | VESM12x30 | ZE=M12x30

200 VF=M16x30 | ZF=M16x30

21


https://rodavigo.net/es/c/f/lag
https://rodavigo.net/es/c/f/lag

g

P60 - M40 - M22
INOX40 - INOX20

FR/FH

www.rodavigo.net

Servicio de Att. al

FRENO ANTERIORE A PEDALE - Blocca contemporaneamente la rotazione della ruota e del
supporto. E applicato ai supporti girevoli Inox40, Inox20 (molla in acciaio inox AISI 301) e P60, M40, M22.
Nei supporti P60, M40 e Inox40 il freno & regolabile. Per articoli con freno aggiungere FR o FH al codice.
TRAILING FOOT BRAKE - Locks wheel and swivel simultaneously. It is fitted to swivel castors
Inox40, Inox20 (AISI 301 stainless steel spring) and P60, M40, M22. The brake on castors P60, M40 and
Inox40 is adjustable. To order items with brake add FR or FH to part number.

FUSS-FESTSTELLER IN NACHLAUF - Blockiert Rad und Lenkung gleichzeitig. Ausfiihrung fiir
Lenkgehause Inox40, Inox20 (Feder aus Edelstahl AISI 301) und P60, M40, M22. Die Ausfilhrung fir P60,
M40 und Inox40 Geh&use ist nachstellbar. Fiir Rollen mit Totalfesteller FR oder FH zur Bestell-Nr beifligen.
FREIN AVANT A PEDALE - Blogue en méme temps la roue et le pivotement. Appliqué aux chapes
pivotantes Inox40, Inox20 (ressort en acier inox AlSI 301) et P60, M40, M22. Le frein des chapes P60,
M40 et Inox40 est réglable. Pour articles avec frein ajouter FR ou FH au code.

FRENO ANTERIOR DE PIE - Bloguea simultaneamente el soporte y la rueda. Aplicado a los soportes
giratorios Inox40, Inox20 (muelle en acero inox AISI 301) y P60, M40, M22. En los soportes P60, M40 y
Inox40 el freno es ajustable. Para articulos con freno afiadir FR o FH al cédigo.

£ R &
M22 - Inox20; I 80-125/40 108 mm Kg. 0,110
@ 100-160/50 140 mm Kg. 0,180
@ 160-200/60 168 mm Kg. 0,280
P60 - M40 - Inox40: & 100-160/50 140 mm Kg. 0,270
@ 125-300/60 170 mm Kg. 0470

E70 - P60 - M40

FV

FRENO POSTERIORE A PEDALE - Blocca contemporaneamente la rotazione della ruota e del
supporto. Leveraggio a snodo senza molle. E munito di vite di regolazione. Per articoli con freno
aggiungere FV al codice.

LEADING FOOT BRAKE - Locks wheel and swivel simultaneously. Leverage without springs. Is
adjustable by means of a screw. To order items with brake add FV to part number.

FUSS-FESTSTELLER IN VORLAUF - Blockiert Rad und Lenkung gleichzeitig. Hebelfunktion ohne
Feder. Mit Einstellschraube. Fir Rollen mit Totalfesteller FV zur Bestell-Nr beifligen.

FREIN ARRIER A PEDALE - Blogue en méme temps la roue et le pivotement. Systéme de leviers
sans ressort. Equipé d’une vis de réglage. Pour articles avec frein ajouter FV au code.

FRENO POSTERIOR DE PIE - Bloguea simultaneamente el soporte y la rueda. Sistema de levas sin
muelle. Dotado de tornillo de regulacién. Para articulos con freno afiadir FV al cédigo.

L
150 mm Kg. 0,500
150 mm Kg. 0,500

E70: © 150-200/60
P60 - M40: & 125-300/60

22

PARAPIEDE - Accessorio, in lamiera d’acciaio stampata e zincata, applicabile sia ai supporti girevoli
che fissi; protegge i piedi dell’operatore evitandone lo schiacciamento. Disponibile per molte misure.
FOOTGUARD - Accessory made of pressed zincplated steel can be assembled on swivel and fixed
forks; protects the operator’s feet. Available in different sizes.

FUSSSCHUTZ - Zubehér aus gepresstem und verzinktem Stahlblech kann auf sowohl Lenkgehduse
als auch Bockgehause ingebaut werden; schitzt die Fahrer-FiBe vom Quetschung. In verschiedenen
Grossen lieferbar.

PARE-PIED - Accessoire réalisé en acier estampé et zingué peut-étre monté sur chapes pivotantes et
fixes; protege les pieds de I'opérateur en prévenant leur écrasement. Disponible en plusieur dimensions.
PROTECCION DE PIE - Accesorio en chapa de acero estampada y cincada, se puede ensemblar a
los soportes giratorios y fijos: protege los pies del operador evitando el aplastamiento. Disponible para
diferentes medidas.



https://rodavigo.net/es/c/f/lag
https://rodavigo.net/es/c/f/lag

WWW.r

Servicio de Att. a

E70 - P60 - M40 - M22 BLOCCAGGIO DIREZIONALE - Blocca la rotazione del supporto nella direzione del senso di marcia.
DIRECTIONAL LOCK - Locks the swivel in the direction of motion.
RICHTUNGSFESTSTELLER - Lenksperre in Laufrichtung.
BLOCAGE DIRECTIONNEL - Bloque le pivotement dans la direction de marche.
BLOQUEO DIRECCIONAL - Bloguea el rodamiento del soporte en la direccion de marcha.

Art. N. AxB b

M22: @ 100-150/50L P3920 102x83 60 Kg. 0,390

& 125-160/50 P3925 135x110 80 Kg. 0,390

@ 160-200/60 P3985 135x110 80 Kg. 0,390

M40 - P60: & 80-125/50L P3920 105x85 60 Kg. 0,390
& 80-160/50 P3925 135x110 80 Kg. 0,390

& 125-300/60 P3940 135x110 80 Kg. 0,390

E70: & 150-200/60 P3945 135x110 80 Kg. 0,390

G80 - E70 BLOCCAGGIO DIREZIONALE - Si aziona manualmente, blocca la rotazione del supporto in due punti

a 180°. Aggiungere B2 al codice.
DIRECTIONAL LOCK - Manually operated, locks the swivelling of the castor in two points at 180°.
Add B2 to part number.

RICHTUNGSFESTSTELLER - Hand bettigt, blockiert die Lenkung der Gehduse auf zwei Punkte zu
180°. Beifligen B2 zur Bestellnummer.

BLOCAGE DIRECTIONNEL - Actionné manuellement, arréte le pivotement de la chape sur deux
points a 180°. Ajouter B2 a la référence produit.

BLOQUEO DIRECCIONAL - Accionado manualmente, bloguea el girar de la horquilla en dos puntos a
180°. Afiadir B2 al codigo.

G80: @ 125-150/105, @ 200/126, @ 250/153, @ 250/100+100, & 300/153, & 300/132+132, & 400/132+132

E70: < 300/153

PARAFILI - Proteggono il mozzo dal filo, polvere, etc. Con trattamento superficiale identico al supporto.
Disponibili per molte misure.

THREAD-GUARDS - Protect the hub from threads, dust, etc. They have the same surface treatment
as the castor.

Available in different sizes.

FADENSCHUTZE - Schiitzen die Nabe gegen Faden, Staub, usw. Mit dem gleichen AuBen-Finish wie
die Gehéduse.

In verschiedenen Grossen lieferbar.

PARE-FILS - Protégent le moyeu de fils, poussiére, etc. Avec la méme finition de la surface que la
chape.

Disponibles en plusieurs dimensions.

PARA-HILOS - Protegen el eje de hilos, polvo, etc. Mismo acabado de superficie del soporte.
Disponibles para diferentes medidas.

23



https://rodavigo.net/es/c/f/lag
https://rodavigo.net/es/c/f/lag

